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sin150° = sin 30° = 9.
sin(—60°) = —sin 60° = — ¥

cos 570° = —cos 30° = V]

sin(—%”) = sin(

() =en(s) -
cot(—%') = —cot(g) =
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=-1
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sin135° = sin45° = L = 3@
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tan 750° = tan 30 = 5=

sin(%”) = —sin(%) =-1

. sec(%) = sec(

tan ( 5”) = tan (%) which is undefined
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Since sinf < 0 and cos 6 < 0, we have  in quadrant III.

secd >0 =

cosf > 0. Alsotand <0 =

o 0 o

cos 6

Since sinf < 0 and cos 8 > 0, we get § is in quadrant IV.
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sind < 0 (since cos 6 > 0).

41. sinf = 3. Thenz = —1/52 — 32 = —/16 = —4, since 6 in quadrant I. Thus, cosf = -%,
tanf = —%,csc@ =35,secd = -3, cotf = —%.



